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B Nl | 42| 15 8 0 19 0 262| 211 26 0 23 0 2| 10 6] 1 0 3 0 0 0 0 0
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E B B 93 34 24 0 35 0 970 776 101 0 67| 48| 6 0 13 0 0 0
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% W B 192| 87| 37 0 68 0 1,627 1,330 154 0 98| 70| 9 0 19 0 41 0
W oA Bl 81 43 21 0 17 0 986| 836 88 0 48| 36| 7 0 5 0 10 0
FHEMH 32| 19 3 0 10 0 452 389 34 0 10 4/ 2 0 4 0 5 0
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WAEM 12 5 4 0 2 0 286 122 13 0 3 0| 148 8 5 1 0 1 0 87 0 4 0
HEREM 35 15 9 0 11 0 372| 321 32 0 19 0 o 11 6 0 0 5 0 0 0 0 0
B R W 14 8 0 0 6 0 359| 331 19 0 9 0 0 5 3l o 0 2 0 0 0 0 0
& B Bl o1 211 22 0 48 0 1,059 837 92 0 130 0 o] 58 32| 3 0 23 0 24 0 21 0
& B | 45 14 7 0 24 0 660 583 34 0 43 0 o 34/ 211 2 0 11 0 15 0 8 0
T W Bl e4 31 7 0 26 0 465 368 39 0 58 0 o 26/ 23 1 0 2 0 13 0 6 0
= M| 49| 20 5 0 24 0 332| 269 27 0 36 0 o 17 71 3 0 7 0 0 0 0 0
' I gl 571 41 8 0 8 0 417/ 350 33 0 34 0 o 28/ 22| 3 0 3 0 45 0 12 0
€ R | 46| 25 10 0 1 0 365| 313 27 0 25 0 o 11| 11| o 0 0 0 38 0 2 0
E # B 77| 28 19 0 30 0 608|  464| 76 0 68 0 o 31| 20/ 2 0 9 0 0 0 0 0
W || 60| 21| 12 0 27 0 679| 578 63 0 38 0 o] 30| 18/ 2 0 10 0 0 0 7 0
£ % B 111 47| 25 0 39 0 1,313 1,080| 126 0 98 0 9] 84| 53] 15 0 16 0 0 0 0 0
& % W 27 14 3 0 10 0 301 256| 20 0 24 0 1 EHEMOHE 0 0 0 0
B & B[ 70 34| 16 0 20 0 1,152  922| 119 0 111 0 o] 62| 33 13 0 16 0 0 0 0 0
B & | 33 15 9 0 9 0 399 341 33 0 25 0 0 0 of o 0 0 0 0 0 0 0
% @ B 120 44| 18 0 58 0 1,523 1,243| 134 0 146 0 o] 61 42| 6 0 13 0 65 0 28 0
#% @ | 28] 12 4 0 12 0 558| 463 52 0 43 0 0 15 51 5 0 5 0 2 0 0 0
E o | 38 11 5 0 22 0 612| 485 59 0 68 0 o 18/ 12| 2 0 4 0 2 0 0 0
% 8| 144| 67| 43 0 34 0 2,381| 1,938 236 0 192 o 15| 81 61| 9 0 11 0 0 0 0 0
% & B 134 80 31 0 23 0 1,945 1,675 191 0 35 0| 44| 55| 45 7 0 2 0 0 0 0 0
£ B | 23 10 4 0 9 0 260 212| 26 0 20 0 2 7 5 1 0 1 0 0 0 0 0
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E I ] 15 8 5 0 2 0 220 178 18 0 23 0 1 7 4 2 0 1 0 0 0 0 0
2 B W 18 7 3 0 8 0 204 160 20 0 22 0 2 7 4 0 0 3 0 0 0 0 0
= 23 96 40 22 0 34 0 1,241 1,007( 140 0 94 0 0 54 33 8 0 13 0 0 0 0 0
e S 13 3 4 0 6 0 243 202 31 0 10 0 0 6 3 2 0 1 0 0 0 0 0
# B R 60 18 10 0 32 0 969 755| 117 0 96 0 1 29 12 3 0 14 0 9 0 11 0
R O# R 67 31 15 0 21 0 878 694 93 0 91 0 0 22 11 3 0 8 0 0 0 0 0
R O# [ 110 37 31 0 42 0 1,679 1,390| 151 0 123 0 15 33 12 6 0 15 0 0 0 0 0
X B FF[ 262 95 66 0 100 0 3,499 2,765| 365 0 332 0 37 92 55| 12 0 25 0 27 0 9 0
X B | 190 78 40 0 72 0 3,407| 2,668 341 0 295 0| 103 59 36 6 0 17 0 0 0 1 0
3® il 45 17 8 0 20 0 717 551 69 0 81 0 16 15 7 1 0 7 0 0 0 1 0
& B oW 19 7 3 0 9 0 275 227 25 0 20 0 3 7 4 1 0 2 0 0 0 1 0
RXWKR® 26 11 5 0 10 0 412 299 60 0 51 0 2 10 6 2 0 2 0 0 0 0 0
E E B| 161 50 28 0 83 0 2,023 1,592 159 0 262 0 10 70 54 2 0 14 0 83 0 77 0
W | | 107 29 17 0 61 0 1,607 1,320 97 0 158 0 32 46 21 6 0 19 0 0 0 0 0
B OB W 36 8 6 0 22 0 414 328 23 0 58 0 5 11 3 0 0 8 0 0 0 0 0
B E W 23 4 8 0 11 0 458 364 28 0 40 0 26 9 6 1 0 2 0 0 0 0 0
E & & 26 9 4 0 13 0 494 316 34 0 56 0 88 12 10 0 0 2 0 102 0 5 0
= B R 54 16 13 0 25 0 784 609 80 0 90 0 5 29 14 4 0 11 0 0 0 6 0
= B W 22 10 6 0 6 0 371 313 29 0 29 0 0 9 8 0 0 1 0 7 0 2 0
MApwE 49 34 8 0 7 0 636 532 47 0 57 0 0 38 25 8 0 5 0 9 0 1 0
E/ AT 43 21 10 0 12 0 448 384 28 0 36 0 0 0 0 0 0 0 0 0 0 0 0
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& H & 46 13 10 0 23 0 536| 446| 54 0 36 0 o 36 23 1 0 12 0 7 0 7 0
& #® || 58 13 10 0 35 0 758| 606 77 0 74 1 o 33 17| 3 0 13 0 10 0 15 0
M W E| 80| 34| 10 0 36 0 620 451 60 0 102 0 71 73| 45 7 0 19 0 0 0 1 0
M W | 59 20/ 15 0 24 0 677 510 71 0 86 0| 10 0 o o 0 0 0 0 0 0 0
B & | 40/ 14| 10 0 16 0 350 274/ 38 0 33 0 5 0 o o 0 0 0 0 0 0 0
= & B 93 30 21 0 42 0 865| 666 88 0 105 0 6] 46| 28] 4 0 14 0 1 0 4 0
& B | 90 37 10 0 43 0 1,217 976| 102 0 133 1 5/ 28/ 15 1 0 12 0 TEA 0 7 0
& W | 45| 20 7 0 18 0 341| 228| 43 0 65 0 5] 14 71 1 0 6 0 0 0 0 0
=} Ml 27 5 9 0 13 0 272| 202 47 0 19 0 4 13 9 2 0 2 0 0 0 0 0
W o ®| 119| 48| 18 0 53 0 1,035 856| 77 0 101 0 1| 60| 37 7 0 16 0 38 0 16 0
T B W 30/ 12 9 0 9 0 274 208 29 0 37 0 0 IO R#HkE IO R#HE
#m B B| 119 62| 24 0 33 0 783| 640 75 0 68 0 0] 50/ 38 5 0 7 0 13 0 8 0
& Il 1’| 58 25 7 0 26 0 434 312 64 0 58 0 o] 31| 20/ &6 0 5 0 32 0 14 0
= M ' 39 21 4 0 14 0 409| 322 37 0 50 0 o] 18/ 10| 2 0 6 0 1 0 0 0
T 3§ B[ 103 44| 10 0 49 0 804| 564/ 90 0 140 o] 10| 48] 27 9 0 12 0 0 0 0 0
N M| 43 9 8 0 26 0 464| 339 51 0 73 0 1| 14 6 4 0 4 0 0 0 0 0
& & Bl 72 27 16 0 29 0 298| 212| 33 0 53 0 o 31 15 3 0 13 0 11 0 11 0
& & | 68/ 18 9 0 4 0 296| 230 31 0 32 0 3
& @ B| 204| 104 42 0 58 0 1,647 1,337| 156 0 151 0 3] 85 58/ 13 0 14 0 0 0 0 0
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A Bxwml 35 22 6 0 7 o o 311| 265 30 0 13 0 3 7 4 2 0 1 o o 0 0 0 0
XKEMBAT 25 14 4 0 7 o o 144 117 14 0 13 0 0 6 6] 0 0 0 o o 0 0 0 0
£ B B[ 110 50 22 0 37 o 1 699 497 78 0 104 ol 20| 37 22| 7 0 8 of o 0 0 0 0
£ & B 90| 37 20 0 33 o o 635 500 64 0 71 0 o 31 211 2 0 8 o o 0 0 0 0
£ & W 51 17 5 0 29 o o 577| 458 54 0 64 0 1| 14 8 1 0 5 o o 0 0 0 0
EHERm 24 11 4 0 9 of o 233 179 20 0 34 0 0 7 4/ 2 0 1 o o 0 0 0 0
B A B[ 131 69 24 0 38 o o 887| 725 89 0 73 0 0] 63 49| 6 0 8 of o 0 0 0 0
B KX | 87 43 18 0 26 o o 588| 485 54 0 49 0 o] 23 18/ 3 0 2 of o 2 0 1 0
X % B[ 165 99| 34 0 32 o o 619| 502| 66 0 51 0 o 57| 41| 8 0 8 of o 49 0 10 0
X o ™ 0 0 0 0 0 o o 378| 316/ 39 0 23 0 0 0 o o 0 0 of o 0 0 0 0
= & || 109 55 21 0 33 o o 539  444| 39 0 56 0 o 32| 22| 1 0 9 of o 0 0 2 0
= B W 36| 17 4 0 15 o o 362| 292 33 0 37 0 o 11| 11 o 0 0 of o 0 0 0 0
BER BBl 277 154 45 o 77 0ol 1] 1,473] 1,055 126 0 110 0| 182| 74| 52| 11 0 11 o o 0 0 0 0
B2 R B | 104 48] 17 0 39 o o 534| 370 39 0 52 o] 73] 18/ 10/ 3 0 5 of o 0 0 0 0
o B[ 94 34] 13 0 44 o 3 821| 585 48 0 101 ol 87| 41| 31| 4 0 6 o o 0 0 0 0
# &t |8,9233,829/1,774 0 3,283 0| 37| 100,817| 81,469| 9,048 0 8,470 2|1,828|3,568| 2,294| 420 0 840 ol 14 1,865 0 536 0
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